
 

 

Answer on Question #61837 – Math – Calculus 

Question 

 1. Integrate with respect to x : 
∫2−1x2(x3+4)2dx 
 

2. Integrate with respect to x : 
∫2−1x2(x3+4)2dx 
 
3. Integrate with respect to x : 
∫3−1x7+x2−−−−−√dx 

  

Solution 

1. ∫ 𝑥2(𝑥3 + 4)2𝑑𝑥 =
2

−1
{𝑡 = 𝑥3, 𝑑𝑡 = 3𝑥2𝑑𝑥} =

1

3
∫ (𝑡 + 4

8

−1
)2𝑑𝑡 = 

   =
1

3

(𝑡+4)3

3
|𝑡=−1

𝑡=8 =
1

9
(123 − 33) = 189. 

 

2. ∫ 𝑥2(𝑥3 + 4)2𝑑𝑥 =
2

−1
{𝑡 = 𝑥3, 𝑑𝑡 = 3𝑥2𝑑𝑥} =

1

3
∫ (𝑡 + 4

8

−1
)2𝑑𝑡 = 

   =
1

3

(𝑡+4)3

3
|𝑡=−1

𝑡=8 =
1

9
(123 − 33) = 189. 

 

3.  ∫ √𝑥7 + 𝑥23

−1
𝑑𝑥 = ∫ 𝑥(𝑥5 + 1)

1

2
3

−1
= ∫ 𝑥𝑚(𝑎 + 𝑏𝑥𝑛)𝑝3

−1
 can’t be expressed in 

elementary functions. 

 Here 𝑚 = 1, 𝑛 = 5, 𝑝 =
1

2
  and  

𝑝 =
1

2
,    

𝑚+1

𝑛
=

1+1`

5
=

2

5
,     

𝑚+1

𝑛
+ 𝑝 =

1+1`

5
+

1

2
=

2

5
+

1

2
=

2∙2+5

5∙2
=

9

10
 are not 

integer. 
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